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2007-08 District Competition

Match #42


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
THIS IS A COMPUTATION QUESTION. How many degrees is an angle measuring 0.9 pi radians, given that pi radians equals 180 degrees?


ANSWER: 162 degrees
2.
The “Real” version of this group released the album The Moment of Truth. The original version had prompted a 1990 class action lawsuit against Arista Records. They were the focus of the first episode of VH1’s Behind the Music. Rob Pilatus and Fab Morvan were the members of what group that had to return their Best New Artist Grammy and are known for lip-syncing “Girl You Know It’s True”? 

ANSWER: Milli Vanilli
3.
He was last seen alive on March 1, 1932, and his corpse was found on May 12, 1932, despite the payment of $70,000 in ransom. Bruno Hauptmann was executed for murdering this 20-month-old. Kidnapping became a federal crime after the abduction and murder of what son of a famous aviator? 

ANSWER: Charles Lindbergh, Jr. (prompt on “Lindbergh” and accept Lindbergh baby)

4.
Based on the real-life criminal Ikey Solomon, he was the teacher of Bill Sykes. His creator removed references to his Jewishness in later editions and later created a favorable Jew, Mr. Riah, in Our Mutual Friend. The Artful Dodger was a student of what man that trained children to become criminals in Charles Dickens’ Oliver Twist? 

ANSWER: Fagin
5.
When dried, this non-climacteric fruit can make sultanas and Zante currants. It produces the important antioxidant resveratrol, and is affected by diseases such as crown gall, leafroll, chlorosis, and black rot.  Types of them include kerner, listan, zinfandel, and merlot.  Name this fruit of the genus Vitis that grows on vines and is often used to make jam, jelly, raisins, and wine.

ANSWER: grape
6.
Hercules hit this novel’s protagonist over the head with a crowbar. The protagonist avoided death by predicting a solar eclipse but had to use Gatling guns to kill thousands of medieval knights. Hank Morgan went back to 528 AD and traveled to Camelot in what novel by Mark Twain? 

ANSWER: A Connecticut Yankee in King Arthur’s Court
7.
This state’s constitution had to include the Willey Amendment, which abolished slavery, before it could be admitted. Originally called Kanawha, Berkeley and Jefferson Counties voted to join this state after the Second Wheeling Convention created it. What state succeeded from another state during the Civil War? 

ANSWER: West Virginia
8.
The largest single place of employment in the country, it employs 57,000 ‘cast members.’ It is located in the Florida cities of Lake Buena Vista and Bay Lake. Its builders had built a similar resort in Anaheim, California. The Animal Kingdom, EPCOT Center, and Magic Kingdom are part of what resort area near Orlando, Florida? 

ANSWER: Walt Disney World
9.
The last images of this man alive were recorded on a cell phone video shot on the first day of Eid al-Adha (EED al-ahd-ha) inside of Camp Justice, 55 days after his conviction for the murder of 148 Shi’ites. Who is this man, the former head of the Ba’ath Party and former leader of Iraq?

ANSWER: Saddam Hussein al-Majid al-Tikriti

10.
They can filter out small blood clots in veins and are the site of gas exchange with blood.  The right one has three lobes and the left one has two lobes, and combined they have three hundred to five hundred million alveoli.  Diseases that affect it include tuberculosis, pneumonia, and emphysema.  Name this pair of main respiratory organs.

ANSWER: lungs
11.
1462 was a mixed year for this prince, as he was overthrown in favor of his brother Radu the Handsome, but got to kill some 50,000 Bulgarians and Ottomans. He had been installed as prince in 1456 with the help of the Hungarians. What prince of Wallachia executed thousands by sliding stakes through his victims’ bodies?

ANSWER: Vlad Tepes (teh-pesh) or Vlad the Impaler or Vlad Dracula (prompt on ‘Dracula’) or Vlad III of Wallachia

12.
For this holiday, gifts called mishloach (mish-LOH-ak) manot are given. During the megillah, or the Scriptural reading that accompanies it, celebrants use noisemakers called graggers to drown out Haman’s name. Celebrated on the 14th of Adar is what Jewish holiday that celebrates the Jews’ deliverance by Esther? 

ANSWER: Purim
13.
This style of music was created by brothers Orestes and Cachao (kah-chow) Lopez. In the 1940s, a dance was created for it. The dance was unusual in that the slow part of its basic step went on count 4 and count 1 of the following measure. What music and dance style enjoyed a revival around 2000, when Prez Prado’s Number Five was covered by Bob the Builder and Lou Bega?

ANSWER: mambo
14.
Its chemical formula is C5H5N5O and its two tautomeric forms are keto and enol. Since it has a pyrimidine-imidazole ring with conjugated double bonds, it is a purine.  Name this nucleobase that pairs with cytosine and is abbreviated G.

ANSWER: guanine
15.
She accepted Belle Watling’s donations to the hospital. After her father died, Uncle Henry and Aunt Pittypat raised her and her brother Charles. The mother of Beau, she died during her second pregnancy. Described as a ‘real lady’ by Rhett Butler, who is Ashley Wilkes’ wife in Gone with the Wind? 

ANSWER: Melanie Hamilton or Melanie Wilkes

Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
Two actors named Dick played the two Darrens in what TV show about a witch named Samantha Stevens?

ANSWER: Bewitched
1B.
What leader of the Green Mountain Boys assisted Benedict Arnold in capturing Fort Ticonderoga?

ANSWER: Ethan Allen
2A.
THIS IS A COMPUTATION QUESTION. How many hours are in three weeks?

ANSWER: 504 hours

2B.
Something that is jaundiced turns what color?

ANSWER: yellow
3A.
What author of the poem ‘Old Ironsides’ invented the word anesthesia and was the father of a namesake Supreme Court Justice? 

ANSWER: Oliver Wendell Holmes, Sr. (prompt on ‘Holmes’)

3B.
THIS IS A COMPUTATION QUESTION. What is the cube root of –512?

ANSWER: -8
4A.
What scientific principle is applied in modern weather radars, based on an effect that relates the frequency of a wave based on the position of the receiver?

ANSWER: Doppler or Doppler effect
4B.
Conjugate the verb “to be” in the third person singular present subjunctive.

ANSWER: be (It is “be” for all persons and numbers in the present tense.)

5A.
The world’s oldest monastery and the oldest mine are located on what landmass between the Gulf of Aqaba and Gulf of Suez? 

ANSWER: Sinai Peninsula


5B.
The Scholastic work Sic et Non (sik et nawn) was written by what medieval French philosopher, the lover of Héloise (ay-loh-eez)?

ANSWER: Pierre (or Peter) Abelard (ah-bay-LAR)

6A.
What Greek letter is used to represent the coefficient of friction?

ANSWER: mu
6B.
What owner of Pemberley has an income of over £10,000 a year and eventually marries Elizabeth Bennet in Pride and Prejudice? 

ANSWER: Fitzwilliam Darcy (accept either)

7A.
When a French speaker speaks of le bras (lih brah), he is not referring to undergarments, but instead to what body part?

ANSWER: the arm
7B.
Aisha and Khadijah were among the wives of what figure, the father of Abdullah, Qasim, and Fatima? 

ANSWER: Muhammad
8A.
What CW show features Tom Welling growing up as a uniquely-abled teen in the titular Kansas town?

ANSWER: Smallville
8B.
An Austrian pediatrician is the namesake of what syndrome that is often blurred with high-functioning autism?

ANSWER: Asperger’s syndrome

9A.
What type of conic section is x squared over 16 plus y squared over 36 equals 1?

ANSWER: ellipse
9B.
THIS IS A COMPUTATION QUESTION. What is the radius of a circle with area 121 pi square meters?

ANSWER: 11 meters
10A.
What body met for the last time in Geneva on April 18, 1946, and voted 33-0 to disband itself, as it had failed to prevent worldwide war? 

ANSWER: League of Nations
10B.
What two elements make up brass?

ANSWER: copper and zinc (can be said in either order)

Third period, 15 toss-ups, 10 points each

1.
It deals with the probabilistic interpretation of the wave function and observation collapsing the wave function.  Its consequences include Schrodinger’s cat and the EPR paradox.  It may mean that things do not exist when not being observed.  Name this interpretation of quantum mechanics named after Niels Bohr’s hometown, the capital of Denmark.

ANSWER: Copenhagen interpretation

2.
Though Dominica and Grenada have renounced their recognition of this nation in recent years, this island still maintains full diplomatic relations with 25 other nations.  The party that founded the government on this island, the Kuomintang, still considers itself the legitimate government on the mainland, located across the Strait of Formosa. What is this rival to the People’s Republic of China?

ANSWER: Taiwan or Republic of China or ROC (Do not accept or prompt on ‘China’ or ‘People's Republic of China’)

3.
Noam Chomsky criticized this psychological school, pioneered by John Watson and Ivan Pavlov, for its inability to explain how children learn language. One of its concepts was a ‘box,’ where rats got food if they pressed a bar, created by B.F. Skinner. What psychological school explains human actions in terms of what people have learned? 

ANSWER: behaviorism
4.
Types of them include differential scanning, constant-pressure, isothermal titration, bomb, heat balance, reaction, and heat flow.  Name this device used for measuring the heat of chemical reactions and heat capacity that in its most basic form is a thermometer attached to an insulated container.

ANSWER: calorimeter
5.
This play’s three acts are set at Lady Britomart’s house, the Salvation Army shelter, and the munitions factory. The title character’s fiancé, Adolphus Cusins, will inherit the armaments factory from the title character’s father, Mr. Undershaft. In what play by George Bernard Shaw is the title character in the Salvation Army? 

ANSWER: Major Barbara
6.
‘Mero’ ones, like sea urchins and starfish, are organisms that spend their larval stages as them, and then become something else. ‘Phtyo’ ones, responsible for 90% of the world's oxygen production, live near the surface and include diatoms and dinoflagellates.  From the Greek for ‘wanderer,’ this is what group of organisms that is the primary base for the food chain in aquatic communities?

ANSWER: plankton
7.
It is the rating a stock analyst gives between “buy” and “sell” and is the interior cargo space of a ship. It is the area of airspace near an airport where planes fly a pattern while waiting to land. It is a condition in a phone call where talking is impossible, but the call is not ended. It also means to leave something out, such as the onions with a sandwich. What word means to keep something, in one’s hands or arms?

ANSWER: hold
8.
This graduate of Lewis and Clark College had her name emerge in association with Paula Corbin Jones’ sexual harassment trial. She made friends with Pentagon co-worker Linda Tripp and bought a blue dress while working at the White House. Bill Clinton declared, ‘I did not have sexual relations with that woman,’ about what intern? 

ANSWER: Monica Lewinsky
9.
The first was released in 2001 with the subtitle ‘Combat Evolved.’ The second featured the debut of the Havok physics engine. The Master Chief and the Covenant, an alliance of alien races, appeared again in September 2007, in the third installation of what Xbox video game franchise?

ANSWER: Halo
10.
THIS IS A COMPUTATION QUESTION. What is 2 to the fourth times 2 cubed, given that x to the n times x to the m equals x to the n plus m?

ANSWER: 128
11.
His brother Martin determined how to raise complex numbers to a complex power. His acoustic law states that the ear hears a musical note as the sum of several pure harmonic tones. Another of his laws determines the relationship between voltage, current, and resistance. Who is the namesake of the SI unit of resistance? 

ANSWER: Georg Ohm 

12.
This word’s 18th century origin was a nickname for a cobbler’s apprentice. William Makepeace Thackeray wrote a ‘Book’ about them in 1848, giving it a popular meaning of someone of low class acting ‘above his class.’ It started applying to taste in food, wine, and other things around 1910. What word describes someone who is stuck-up towards others, or who fancies himself an expert in a given field? 

ANSWER: snob

13.
This book’s title character makes friends with Margalo the bird and was only three and a half ounces by age 7. Garth Williams was the ninth illustrator hired for this book, for as its editor complained, ‘it is terribly difficult to draw ATTRACTIVE mice.’ What is this book by E.B. White about Frederick’s tiny second son? 

ANSWER: Stuart Little
14.
His associates such as Ultra Violet were his ‘superstars.’ The ‘superstar’ era ended when he delegated filmmaking to Paul Morrissey after Valerie Solanas shot him. From his Manhattan ‘Factory,’ he mass-produced art such as Campbell’s Soup cans. What artist said, ‘In the future, everyone will be famous for fifteen minutes?’

ANSWER: Andy Warhol
15.
Today, it is a city of 87,000 people and is the capital of the Yvelines (ee-veh-LEEN) départment (day-part-MAWN). Its growth in the 17th century was a model for Pierre L’Enfant’s plan to build Washington, DC. In 1682, Louis XIV moved his residence to what suburb where the treaty ending World War I was signed? 

ANSWER: Versailles
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
After supposedly falling off the Reichenbach Falls he made his ‘Return,’ ‘Last Bow,’ and ‘Case-Book.’ He often worked with Scotland Yard’s Inspector Lestrade. Mrs. Hudson was his landlord; Professor Moriarty was his greatest nemesis; and Dr. John Watson was his roommate. Who was this detective created by Arthur Conan Doyle? 

ANSWER: Sherlock Holmes
2.
Proven in 1691 by a French mathematician, what special case of the mean value theorem states that for a function continuous and differentiable on an interval from a to b where f of a equals f of b, there is a number c between a and b where f prime of c equals zero?

ANSWER: Rolle’s theorem

3.
The Villa of the Mysteries is near this city. In 1748, workers building a palace for the King of Naples rediscovered it. It was badly damaged by an earthquake in 62 AD, and repairs were still being done 17 years later. What town was destroyed along with nearby Herculaneum on August 24, 79 AD, in the explosion of Mount Vesuvius? 

ANSWER: Pompeii
4.
Four stags, including Dvalin (dwah-leen), nibbled from it, and the eagle Vidornir and dragon Nidhogg lived at its top and bottom. It was watered by the Well of Urd, and the Norns were kind enough to water it daily. Odin hung from it for nine days when he discovered runes. The squirrel Ratatosk ran up and down the branches of what world-tree of Norse mythology? 

ANSWER: Yggdrasil or Mimameid
5.
In 1959, Donald Shell took its algorithm and created the Shell sort. By its nature it works best for small data sets, or substantially sorted data sets. Name this sorting algorithm that works by taking the next entry in the data and placing it into a list that is built one data entry at a time. 

ANSWER: Insertion Sort

All questions ©2007 Scholastic Bowl Company of Virginia, Inc. Unauthorized use, as described on the first page of this document, is prohibited.

